Satz 3.2.12: s=ctgdw. s=t € CC(&)

o S = Subterms(E) U Subterms(s) U Subterms(t)
e & =(EUR) N Sx 8
o £5, = (ESUS(ES) UT(ES) UC(ES) N S xS

e Kongruenzabschluss bzgl. S: CC®(E) = Uien ms.m

E={i=jk=1Lf(i)=gk),j=f(j),m=g()} s=f(m) ¢

S = 10,4, k1, m, £(0), £(3), f(m), g(k), g()}
Ef=cu{i=i,...,g(h) =g()}
Ef =&y U{j=i,....g() =mpu{i=£()} U{f(i) = (), g(k)



E={i=j,k=11(i)=gk),j=f(j),m=g()} s = f(m) t = g(k)
S =ik, I,m,f(i),f(j),f

Aufgrund £: {i, ]}, 1k 1}, 1£(),8(k)}, 13,£0) ), 1m, &)},
Aufgrund 50 {i}, 1}, 1k}, Uk, Am}p, {F(D} (FQ)} 1f(m)), 18(k) ), 18(1);

1. Schritt: Aquivalenzrelation

So :{i,5,f0) 1 Lk, 1} {f(),g(k) ), {m, g}, {f(m)}
2. Schritt: Kongruenz
{i,5,f(0)}, {k, 1}, {f(i),8(k)}, {m,g(D)}, {f(m)},
1£(),f0)}, {s(k), ()}
3. Schritt: Aquivalenzrelation
S1: 41,5, £0), (i), 8(k), g(1), m}, {k, 1}, {f(m)}
4. Schritt: Kongruenz
{i,5,£(), (1), g(k), g(1), m}, {k, 1}, {f(m)},
1£(0),£0) 3, {£(0), f(m)}, {£(), f(m)}, {g(k),g())}
5. Schritt: Aquivalenzrelation
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